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: 

: 

(i) 30 

(ii)   

(iii) 1 17 1 

(iv)  18 19 3 

(v) 20 23 3 
80 100 

(vi) 24 28 5 
120 150 

(vii) 29 30 5 

(viii) 

(ix) 

IÊS> H$ 

1 17 17×1=17 

1. {ZåZ{b{IV _| go H$m¡Z-gm ^mfm dJ© ^maV _| g~go N>moQ>m h¡ ?   
(A) g§ñH¥$V, ~moS>mo Am¡a _{Unwar   
(B) H$Þ ,> V{_b Am¡a VobwJw    
(C) S>moJar, n§Om~r Am¡a H$m|H$Ur   
(D) _¡{Wbr, JwOamVr Am¡a ~m§½bm   

2. {ZåZ{b{IV _| go H$m¡Z dñVwAm| Ho$ {Z_m©VmAm| go g§nH©$ H$aHo$ AnZo {ZX}emZwgma CËnmXm| H$mo 
~ZdmH$a AË`{YH$ {_Vì``Vm go ì`mnm[aH$ _mb IarX nmVo h¢ ?   
(A) ì`mnm[aH$ Ho$ÝÐ    (B) Cn^moº$m ghH$mar g_wXm`  
(C) {d^mJr` ^§S>ma      (D) ûm¥§Ibm ^§S>ma     

3. H¥${Ì_ aoeo Am¡a ßbmpñQ>H$ {d{Z_m©U {ZåZ{b{IV _| go {H$gH$m CXmhaU h¡ ? 

(A) I{ZO-AmYm[aV CÚmoJ  (B) agm`Z-AmYm[aV CÚmoJ    
(C) dZ-AmYm[aV CÚmoJ  (D) new-AmYm[aV CÚmoJ   
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General Instructions : 

Read the following instructions carefully and follow them :  
(i) This questions paper contains 30 questions. All questions are compulsory. 
(ii) Question paper is divided into five sections  Sections  A, B, C, D and E. 
(iii) Section A  Questions no. 1 to 17 are Multiple Choice type questions. Each 

question carries 1 mark. 
(iv) Section B  Questions no. 18 and 19 are Source-based questions. Each 

question carries 3 marks. 
(v) Section C  Questions no. 20 to 23 are Short Answer type questions. Each 

question carries 3 marks. Answer to these questions shall be written in  
80 to 100 words. 

(vi) Section D  Questions no. 24 to 28 are Long Answer type questions. Each 
question carries 5 marks. Answer to these questions shall be written in 120 to 
150 words.  

(vii) Section E  Questions no. 29 and 30 are Map-based questions. Each question 
carries 5 marks. 

(viii) In addition to this, NOTE that a separate question has been provided for 
Visually Impaired candidates in lieu of questions having visual inputs, map 
etc. Such questions are to be attempted by Visually Impaired candidates only.  

(ix) There is no overall choice given in the question paper. However, an internal 
choice has been provided in a few questions in all sections other than Section A.  

SECTION A 

Questions no. 1 to 17 are Multiple Choice Type Questions. 17 1=17 

1. Which one of the following language groups is the smallest in India ? 
(A) Sanskrit, Bodo and Manipuri   
(B) Kannada, Tamil and Telugu 
(C) Dogri, Punjabi and Konkani  
(D) Maithili, Gujarati and Bangla  

2. Which one of the following is able to purchase merchandise more 
economically, by contacting the manufacturers to produce the goods 
according to their specification ?    
(A) Trading Centres   (B) Consumer Cooperatives  
(C) Departmental Stores (D) Chain Stores 

3. Synthetic fibre and plastic manufacturing is an example of which one of 
the following ?  
(A) Mineral-based industry     (B) Chemical-based industry   
(C) Forest-based industry  (D) Animal-based industry   
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4. {ZåZ{b{IV ẁ½_m| _| go H$m¡Z-gm ghr gw_o{bV h¡ ? 

    

(A) nd©Vr` joÌ {dH$mg H$m`©H«$_   ^maV Ho$ ewîH$ Am¡a AY©ewîH$ joÌ 

(B) gyIm g§^mdr joÌ H$m ©̀H«$_   15 nd©Vr` {Obo  

(C) B§{Xam Jm§Yr Zha H$_mZ joÌ    

(D) g_pÝdV OZOmVr` {dH$mg H$m ©̀H«$_  amOñWmZ Am¡a JwOamV   

5. {ZåZ{b{IV amîQ́>r` H$m¡eb {dH$mg VWm CÚ{_Vm Zr{V (2015) Ho$ CÔoí`m| H$mo Ü`mZnyd©H$ 
: 

I. ^maV _| {d{^Þ Am ẁ dJm] H$s gmjaVm Xa _| gwYma H$aZm &  

II. g^r H$m¡eb go g§~§{YV J{V{d{Y`m| Ho$ {bE ê$naoIm àXmZ H$aZm &   

III. g^r H$m¡eb J{V{d{Y`m| H$mo EH$ _mZH$ Ho$ gmW ~m±Yo aIZm & 

IV. H$m¡eb J{V{d{Y`m| H$mo BZHo$ _m±J H|$  

{dH$ën :   

(A) Ho$db I, II Am¡a III ghr h¢ &   

(B) Ho$db II, III Am¡a IV ghr h¢ &   

(C) Ho$db I, III Am¡a IV ghr h¢ &   

(D) Ho$db I, II Am¡a IV  ghr h¢ & 

6. dfm© {Z ©̂a H¥${f   ?   

(A) CËnmXH$ H¥${f  (B) g§a{jV H¥${f     

(C) ~mamZr     (D) µOm`X     

7. {ZåZ{b{IV _o§ go H$m¡Z-gm Z_m{_ J§Jo H$m ©̀H«$_ H$m CÔoí`   h¡ ?   

(A) eham| _| grda Q́>rQ>_|Q> H$s ì`dñWm H$aZm     

(B) Am¡Úmo{JH$ àdmh H$s {ZJamZr H$aZm  

(C) ZXr Ho$ {H$Zmamo§ na dZrH$aU H$aZm  

(D) eham| go ZXr Ho$ ~hmd H$mo    
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4. Which one of the following pairs is matched correctly ?  
 (Target Area Planning )   (Area)  
(A) Hill Area Development 

Programme   
 Semi-arid and Arid tracts 

of India    

(B) Drought Prone Area Programme    15 Hilly Districts  

(C) Indira Gandhi Canal Command 
Area   

 Ganganagar, 
Hanumangarh  

(D) Integrated Tribal Development 
Project 

 Rajasthan and Gujarat 

5. Read the following objectives regarding National Policy for Skill 
Development and Entrepreneurship (2015) carefully and choose the most 
appropriate option :   

 I. To improve the literacy rate of different age groups in India. 
 II. To provide umbrella framework to all skilling activities. 
 III. To align all skilling activities to common standards.  
 IV. To link skilling activities with demand centres.  

 Options :  

(A) Only I, II and III are correct.  

(B) Only II, III and IV are correct.  

(C) Only I, III and IV are correct.  

(D) Only I, II and IV are correct.  

6. What is the other name of Rainfed type of farming  ?  

(A) Productive farming (B) Protective farming    

(C) Barani  (D) Zaid 

7. Which one of the following is not the objective of Namami Gange 
Programme ?    

(A) Developing sewerage treatment systems in towns    

(B) Monitoring of industrial effluents   

(C) Afforestation along the banks of the river    

(D) To divert the flow of the river from the cities  
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8. amîQ́>r` Ob_mJ© Z§. 1 Ho$ {dñVma go g§~§{YV ghr {dH$ën H$m M`Z H$s{OE   
(A) Bbmhm~mX/à`mJamO-hpëX`m  
(B) g{X`m-Yw~ar  
(C) H$moQ²>Q>mnwa_-H$moëb_   
(D) H$mH$sZmS>m-  

9. {ZåZ{b{IV H$WZm| H$m Ü`mZnyd©H$ AÜ``Z H$s{OE Am¡a ghr {dH$ën H$m M`Z H$s{OE  

I : ^maV _| ñdV§ÌVm àm{ßV Ho$ níMmV _hmZJam| Ho$ Mmam| Amoa Hw$N> nwamZo ZJa 
AZwf§Jr ZJam| Ho$ ê$n _| {dH${gV hþE &      

II : {Xëbr Bg àH$ma Ho$ _hmZJam| H$m AÀN>m CXmhaU h¡ &      
{dH$ën :   

(A) Ho$db H$WZ I ghr h¡ &   
(B) Ho$db H$WZ II ghr h¡ &   
(C) H$WZ I Am¡a II XmoZm| ghr h¢ Am¡a H$WZ II, H$WZ I H$m ghr CXmhaU h¡ &   
(D) H$WZ I Am¡a II XmoZm| ghr h¢, naÝVw H$WZ II, H$WZ I H$m ghr CXmhaU  h¡ & 

10. {ZåZ{b{IV _| go H$m¡Z-gm amOñWmZ _| JwpÀN>V ~ñVr Ho$ CX²^d H$m EH$ H$maU h¡ ? g~go 
Cn ẁº$ {dH$ën H$m M`Z H$s{OE &  
(A) ^y-g§gmYZm| Ho$ A{YH$V_ Cn`moJ Ho$ {bE &    
(B) ~mø ajm Ed§ gwajm Ho$ {bE &   
(C) CnbãY Ob òmoVm| H$m A{YH$V_ Cn`moJ H$aZo Ho$ {bE &    
(D) Am§V[aH$ ajm Ed§ gwajm Ho$ {bE &  

11. {ZåZ{b{IV _| go H$m¡Z-gm Xoe  ? 

(A) ^maVr` aobdo   
(B) ^maV H$m amîQ>́r` _hm_mJ© àm{YH$aU    
(C)   
(D) Am°b BpÊS>`m ao{S>`mo   

12. ^maV Ho$ IZZ ZJam| go g§~§{YV ghr {dH$ën H$m M`Z H$s{OE  

(A) H$m±S>bm    
(B) A§H$boída, qgJam¡br Am¡a {S>J~moB©  
(C) _w§~B©, gob_ Am¡a _moXrZJa     
(D)  
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8. Choose the correct option regarding the stretch of National Waterways  
No. 1 : 
(A) Allahabad/Prayagraj  Haldia  
(B) Sadiya  Dhubri   
(C) Kottapuram  Kollam   
(D) Kakinada  Puducherry    

9. Study the following statements carefully and choose the correct option : 

Statement I : In India, after independence, some old towns around 
metropolitan cities developed as satellite towns.  

Statement II : Delhi is a good example of such metropolitan cities.  
Options : 
(A) Only statement I is correct.    
(B) Only statement II is correct.    
(C) Both statements I and II are correct and statement II is the correct 

example of statement I.  
(D) Both statements I and II are correct, but statement II is not the 

correct example of statement I.  

10. Which one of the following is a reason for the emergence of clustered 
settlements in Rajasthan ? Choose the most appropriate option.   
(A) For the maximum utilization of land resources.    
(B) For external security and defence.     
(C) For maximum utilization of available water resources.   
(D) For internal security and defence. 

11. Which one of the following is the biggest government undertaking in the 
country ?  
(A) Indian Railways   
(B) National Highways Authority of India   
(C) Border Roads Organization  
(D) All India Radio  

12. Choose the correct option regarding mining towns of India : 
(A) Kandla, Kochchi and Kozhikode   
(B) Ankaleshwar, Singrauli and Digboi  
(C) Mumbai, Salem and Modinagar  
(D) Varanasi, Roorki and Aligarh   
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13. {XE JE H$WZ H$mo Ü`mZnyd©H$  Am¡a ZrMo {XE JE àíZ H$m CÎma {b{IE :   

 A{YH$m§e Am¡Úmo{JH$ An{eîQ> ~hVo hþE Ob `m Prbm| _| S>mb {X`m OmVm h¡ &  
 {ZåZ{b{IV _o§ go CÚmoJm| H$m H$m¡Z-gm dJ© Ob àXÿfU H$m à_wI òmoV h¡ ? g~go Cn ẁº$ 

{dH$ën H$m M`Z H$s{OE & 
(A)    
(B) bmohm, Vm±~m Am¡a MrZr   
(C) MrZr, noQ>́moagm`Z Am¡a Cd©aH$$     
(D)  

14. {ZåZ{b{IV g§JR>Zm| _| go H$m¡Z-gm AnZo gXñ` Xoem| Ho$ {bE d¡pídH$ ì`mnma {Z`_ {ZYm©[aV 
H$aVm h¡ ?  g~go Cn ẁº$ {dH$ën H$m M`Z H$s{OE &    
(A) g§ ẁº$ amîQ>́   
(B) {díd ì`mnma g§JR>Z  
(C) Zm°W© A_o[aH$Z \«$s Q>́oS> Egmo{gEeZ  
(D) gmCW E{e`Z \«$s Q´>oS> EJ«r_|Q> 

15 17 

OZm§{H$H$s` g§H«$_U {gÕm§V H$s AdñWmE± 

 OZm§{H$H$s` g§H«$_U {gÕm§V H$s 
hmoVr h¡ 
j{Vny{V© A{YH$ nwZéËnmXZ go H$aVo h¢ & OZg§»`m d¥{Õ Yr_r hmoVr h¡ Am¡a A{YH$m§e bmoJ 
IoVr _| H$m ©̀aV hmoVo h¢, >o n[admam| H$mo n[ag§n{Îm _mZm OmVm h¡ & OrdZ-àË`mem {ZåZ 
hmoVr h¡, A{YH$m§e bmoJ A{e{jV hmoVo h¢ Am¡a CZHo$ àm¡Úmo{JH$s ñVa {ZåZ hmoVo h¢ &  
200 df© nyd© {díd Ho$ g^r Xoe Bgr AdñWm _| Wo &  

 {ÛVr` AdñWm Ho$ àma§^ _| àOZZerbVm D±$Mr ~Zr ahVr h¡ qH$Vw `h g_` Ho$ gmW 
KQ>Vr OmVr h¡ & `h AdñWm KQ>r hþB© _¥Ë ẁ Xa Ho$ gmW AmVr h¡ & ñdmñÏ` g§~§Yr XemAm| d 
ñdÀN>Vm _| gwYma Ho$ gmW _Ë ©̀Vm _| H$_r AmVr h¡ & Bg A§Va Ho$ H$maU, OZg§»`m _| hmoZo 

 

 A§{V_ AdñWm _| àOZZerbVm Am¡a _Ë ©̀Vm XmoZm| A{YH$ KQ> OmVr h¡ & OZg§»`m `m 

VWm CgHo$ nmg VH$ZrH$s kmZ hmoVm h¡ & Eogr OZg§»`m {dMmanyd©H$ n[adma Ho$ AmH$ma H$mo 
{Z §̀{ÌV H$aVr h¡ &  
 Bggo àX{e©V hmoVm h¡ {H$ _Zwî` Om{V AË`{YH$ Zå` h¡ Am¡a AnZr àOZZerbVm H$mo 
g_m`mo{OV H$aZo H$s `mo½`Vm aIVr h¡ &  
 dV©_mZ _| {d{^ÝZ Xoe OZm§{H$H$s` g§H«$_U H$s {d{^ÝZ AdñWmAm| _| h¢ & 
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13. Read the given statement carefully and answer the question that follows : 

Which among the following group of industries are the major source of 
water pollution ? Choose the most appropriate option.   
(A) Leather, pulp and paper  
(B) Iron, copper and sugar   
(C) Sugar, petrochemical and fertilizer  
(D) Cotton textile, chemical and power plant  

14. Which of the following organisations sets the rules for the global trading 
among its member nations ? Choose the most appropriate option.   

(A) United Nations  
(B) World Trade Organisation   
(C) North American Free Trade Association  
(D) South Asian Free Trade Agreement   

Read the case study given below and answer Q. No. 15 to 17.   

Stages of Demographic Transition Theory 

  The first stage of demographic transition theory has high fertility and 
high mortality because people reproduce more to compensate for the 
deaths due to epidemics and variable food supply. The population growth 
is slow and most of the  people are engaged in agriculture, where large 
families are an asset. Life expectancy is low, people are mostly illiterate 
and have low levels of technology. Two hundred years ago, all the countries 
of the world were in this stage. 

  Fertility remains high in the beginning of second stage but it declines 
with time. This is accompanied by reduced mortality rate. Improvements 
in sanitation and health conditions lead to decline in mortality. Because of 
this gap, the net addition to population is high. 

  In the last stage, both fertility and mortality decline considerably. The 
population is either stable or grows slowly. The population becomes 
urbanized, literate and has high technical know-how and deliberately 
controls the family size.  

  This shows that human beings are extremely flexible and are able to 
adjust their fertility.  

  In the present day, different countries are at different stages of 
demographic transition.        
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15. {ZåZ{b{IV _| go {H$g/{H$Z AdñW h¡ ?   
(A) Ho$db àW_ AdñWm _| (B) Ho$db {ÛVr` AdñWm _|  
(C) àW_ Ed§ {ÛVr` XmoZm| AdñWmAm| _| (D) {ÛVr` Ed§ A§{V_ XmoZm| AdñWmAm| _|  

16. {ZåZ{b{IV _| go OZg§»`m n[adV©Z Ho$ KQ>H$ go g§~§{YV g~go Cn ẁº$ {dH$ën H$m M`Z 
H$s{OE : 
(A) OÝ_, _¥Ë`w Am¡a àdmg     
(B) OÝ_, KZËd Am¡a àdmg    
(C) KZËd, gmjaVm Am¡a Am ẁ g§aMZm   
(D) _¥Ë ẁ, gmjaVm Am¡a {b§JmZwnmV  

17. {ZåZ{b{IV _| go {H$g/{H$Z AdñWm/AdñWmAm| _| OZg§»`m d¥{Õ Yr_r ahVr h¡ ?    
(A) Ho$db àW_ AdñWm _|   
(B) Ho$db {ÛVr` AdñWm _|    
(C) Ho$db {ÛVr` Ed§ A§{V_ AdñWmAm| _|      
(D) Ho$db àW_ Ed§ A§{V_ AdñWmAm| _|    

IÊS> I 

18 19 2 3=6

18. Am¡a CgHo$ ZrMo {XE JE àíZm| Ho$ CÎma {b{IE : 3 1=3  

godmE± 

  godmE± {d{^Þ ñVam| na nmB© OmVr h¢ & Hw$N> godmE± CÚmoJm| H$mo MbmVr h¢, Hw$N> bmoJm| H$mo 
Am¡a Hw$N> CÚmoJm| Am¡a> bmoJm| XmoZm| H$mo, CXmhaUV: n[adhZ V§Ì & godmE± O¡go  n§gmar H$s 
XþH$mZ|, Ymo~rKmQ>; 
A{YH$ {d{eîQ>rH¥$V godmAm| H$s Anojm A{YH$ gm_mÝ` Am¡a {dñV¥V h¢ & godmE± ^wJVmZ H$a 
gH$Zo dmbo ì`{º$JV Cn^moº$mAm§| H$mo CnbãY hmoVr h¢ & _mbr, Ymo~r Am¡a ZmB© _w»` ê$n go 
emar[aH$ l_ H$aVo h¢ & AÜ`mnH$, dH$sb, {M{H$ËgH$, g§JrVH$ma Am¡a AÝ` _mZ{gH$ l_ 
H$aVo h¢ & 

  AZoH$ godmE± A~ {Z`{_V hmo JB© h¢ & _hm_mJm] Ed§ goVwAm| H$m {Z_m©U Am¡a AZwajU, 
A{½Ze_Z {d^mJm| H$m AZwajU Am¡a {ejm H$s ny{V© AWdm n ©̀dojU Am¡a J«mhH$-godm 
_hÎdnyU© godmAm| _| go h¢, {OZH$m n ©̀dojU AWdm {ZînmXZ àm`: gaH$mam| AWdm H§$n{Z`m| 
Ûmam {H$`m OmVm h¡ & amÁ` Am¡a g§K {dYmZ Zo n[adhZ, Xÿag§Mma, D$Om© Am¡a Obmny{V© O¡gr 
godmAm| Ho$ {dnUZ Ho$ n ©̀©dojU Am¡a {Z`§ÌU Ho$ {bE {ZJ_m| H$s ñWmnZm H$s h¡ & ñdmñÏ` 
H$s XoI^mb, A{^`m§{ÌH$s, {d{Y Am¡a à~§YZ ì`mdgm{`H$ godmE± h¢ & _Zmoa§OZmË_H$ Am¡a 
à_moX godmAm| H$s pñW{V ~mµOma na {Z^©a H$aVr h¡ &  
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15. Which among the following stage/stages has/have high growth of 
population ?  
(A) Only the first stage    (B) Only the second stage    
(C) Both first and second stages (D) Both second and last stages   

16. Choose the most appropriate option from the following regarding 
components of population change : 
(A) Births, deaths and migration    
(B) Births, density and migration   
(C) Density, literacy and age structure     
(D) Deaths, literacy and sex ratio    

17. Which of the following stage/stages has/have a slow growth of  
population ?  
(A) Only the first stage    
(B) Only the second stage    
(C) Only second and last stages   
(D) Only first and last stages   

SECTION B 

Questions number 18 and 19 are Source-based Questions. 2 3=6 

18. Read the given passage carefully and answer the questions that follow : 3 1=3 

Services 

  Services occur at many different levels. Some are geared to industry, 
some to people, and some to both industry and people, e.g., the transport 
systems. Services, such as grocery shops and laundries are more common 
and widespread than high-order services or more specialized ones like 
those of accountants, consultants and physicians. Services are provided to 
individual consumers who can afford to pay for them. For example, the 
gardener, the launderers and the barber do primarily physical labour. 
Teachers, lawyers, physicians, musicians and others perform mental 
labour.  

  Many services have now been regulated. Making and maintaining 
highways and bridges, maintaining fire fighting departments and 
supplying or supervising education and customer care are among the 
important services most often supervised or performed by governments or 
companies. State and Union legislation have established corporations to 
supervise and control the marketing of such services as transport, 
telecommunication, energy and water supply. Professional services are 
primarily health care, engineering, law and management. The location of 
recreational and entertainment services depends on the market.        
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(18.1) gm_mÝ` Ed§ {dñV¥V godmAm| Ho$ {H$gr EH$ CXmhaU H$m CëboI H$s{OE &  1  

(18.2) godmAm| Ho$ {dnUZ H$m H$m¡Z n ©̀dojU Ed§ {Z §̀ÌU H$aVm h¡ ?   1 

(18.3) godmE± {d{^Þ ñVam| na nmB© OmVr h¢ & Bg H$WZ H$s nwpîQ> H$s{OE & 1 

19. {XE JE AmaoI H$m Ü`mZnyd©H$ AÜ``Z H$s{OE Am¡a CgHo$ ZrMo {XE JE àíZm| Ho$ CÎma  
{b{IE : 3 1=3 

 
(19.1) 1950  51 H$s VwbZm _| 2014  15 _| ŷ-Cn`moJ H$s {H$g loUr _| A{YH$V_ ewÕ 

d¥{Õ hþB© ?  1  

(19.2) 1950  51 H$s VwbZm _| 2014  15 _| ŷ-Cn`moJ H$s {H$g loUr _| A{YH$V_ ewÕ 
{JamdQ> hþB© ?  1 

(19.3) H¥${f `mo½` ì`W©- ŷ{_ Ho$ A§VJ©V {JamdQ> Ho$ {H$Ýht Xmo H$maUm| H$m CëboI  

H$s{OE &  
2
1

+
2
1

=1  

: 19
 

{H$gr joÌ _| ŷ-Cn`moJ, A{YH$Va dhm± H$s Am{W©H$ {H«$`mAm| H$s àd¥{Îm na {Z ©̂a h¡ &   
Bg H$WZ H$s nwpîQ> VrZ q~XþAm| _| H$s{OE & 3 
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(18.1) Mention any one example of common and widespread services. 1 

(18.2) Who supervises and controls the marketing of services ? 1 

(18.3)  1 

19. Study the given diagram carefully and answer the questions that  
follow :  3 1=3 

 

(19.1) In 2014   15, which category of land use has undergone the 
highest net increase in comparison to 1950  51 ?     1 

(19.2) In 2014   15, which category of land use has undergone the 
highest net decline in comparison to 1950  51 ?     1 

(19.3) Mention any two reasons for the decline in land under culturable 

wasteland.    
2
1

+
2
1

=1 

Note :  The following question is for the Visually Impaired Candidates only 
in lieu of Q. No. 19.  

, to a large extent, is influenced by the nature of 

three points.       3 
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IÊS> J 

20 23 4 3=12 

20. (H$) {díd ì`mnma g§JR>Z H$s hmoZo dmbr AmbmoMZmAm| H$s ì`m»`m H$s{OE &     3  
 AWdm 

(I) ì`mnma g§VwbZ  ?  ì`mnma g§VwbZ  H$s {deofVmAm| H$s ì`m»`m H$s{OE & 1+2=3 

21. ^maV _| OZg§»`m d¥{Õ H$s àmdñWm I  H$s {H$Ýht VrZ {deofVmAm| H$s ì`m»`m H$s{OE &  3 

22. (H$) n`m©daUr` {ZíM`dmX H$s g§H$ënZm H$s CXmhaU g{hV ì`m»`m H$s{OE & 3  
 AWdm 

(I) àH¥${V Am¡a _mZd Ho$ ~rM Û¡YVm d¡Y Zht h¡ &  Bg H$WZ H$s CXmhaU g{hV 
ì`m»`m> H$s{OE & 3 

23. ^maV _| _{bZ ~pñV`m| (slums) H$s {H$Ýht VrZ g_ñ`mAm| H$s ì`m»`m H$s{OE & 3 

IÊS> K 

24 28 5 5=25 

24. _mZd {dH$mg gyMH$m§H$  H$m {H$g àH$ma _mnZ {H$`m OmVm h¡ ? _mZd {dH$mg Ho$ _hÎdnyU© 
gyMH$m| H$s ì`m»`m H$s{OE & 2+3=5 

25. (H$) AQ>bm§{Q>H$ _hmgmJa  & 
BgH$s à_wI {deofVmAm| H$s ì`m»`m H$s{OE &  1+4=5  

 AWdm 
(I) amBZ Ob_mJ© H$s à_wI {deofVmAm| H$s ì`m»`m H$s{OE &  5 

26. (H$) {díd _| amonU H¥${f H$s à_wI {deofVmAm| H$m {díbofU H$s{OE & 5  
 AWdm 

(I) {díd _| {dñV¥V dm{UÁ` AZmO H¥${f H$s à_wI {deofVmAm| H$m {díbofU H$s{OE & 5 

27. A§Vam©îQ>́r` ì`mnma Ho$ àdoe Ûma Ho$ ê$n _| ^maVr` g_wÐr nÎmZm| H$s ì`m»`m H$s{OE &  5 

28. (H$) ^maV _| I{ZO g§gmYZm| Ho$ g§ajU Am¡a gVV nmofUr` {dH$mg Ho$ g§~§Y H$m 
{díbofU H$s{OE &  5 

 AWdm 
(I) ^maV _| gm¡a D$Om© H$m CXmhaU XoH$a D$Om© Ho$ Ana§namJV òmoVm| Ho$ bm^mo§ H$m 

{díbofU H$s{OE &    5 
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SECTION C 

Questions number 20 to 23 are Short Answer Type Questions.  4 3=12 

20. (a)  Explain the criticisms faced by the World Trade Organization.    3 
OR 

 (b)  he characteristics of Balance 
of Trade .     1+2=3 

21. Explain any three characteristics of Phase II  of growth of population in 
India.  3 

22. (a)  Explain with example the concept of environmental determinism.   3 
OR 

  (b)  al and human is not a very valid 
 3 

23. Explain any three problems of slums in India.   3 

SECTION D 

Questions number 24 to 28 are Long Answer Type Questions. 5 5=25 

24. red ? Explain key areas of 
human development.      2+3=5 

25. (a) Name the canal connecting the Atlantic Ocean and the Pacific 
Ocean. Explain its main features.     1+4=5 

OR 
  (b) Explain the main features of the Rhine Waterways. 5 

26. (a) Analyze the main features of Plantation Agriculture in the world.    5 
OR 

(b)  Analyse the main features of extensive commercial grain cultivation 
in the world.      5 

27. Explain the Indian sea ports as gateways of international trade.  5 

28. (a) Analyze the relationship between the conservation of mineral 
resources and sustainable development in India. 5 

OR 
 (b) Analyze the advantages of non-conventional energy sources by 

giving the example of solar energy in India. 5 
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IÊS> L> 

29 30 2 5=10

29. {XE JE {díd Ho$ amOZr{VH$ aoIm-_mZ{MÌ (n¥îR 21 na), _| gmV ^m¡Jmo{bH$ bjUm| H$mo  

A, B, C, D, E, F Am¡a G Ho$ ê$n _| A§{H$V {H$`m J`m h¡ & {ZåZ{b{IV OmZH$mar H$s 

ghm`Vm go {H$Ýht  H$s nhMmZ H$s{OE Am¡a CZHo$ ghr Zm_ CZHo$ g_rn ItMr JB© 

aoImAm| na {b{IE :   5 1=5 

A. {dñV¥V dm{UÁ` AZmO H¥${f H$m EH$ joÌ   

B. EH$ Zm¡ n[adhZ Zha 

C. Am°ñQ́>o{b`m H$m EH$ à_wI g_wÐr nÎmZ 

D. OmnmZ H$m EH$ à_wI dm ẁ nÎmZ    

E. X{jUr A_o[aH$m H$m EH$ à_wI g_wÐr nÎmZ 

F. {Zdm©hZ g§J«hU H$m EH$ joÌ   

G. EH$ à_wI Am§V[aH$ Ob_mJ©   

: 29

: 5×1=5

(29.1) A\«$sH$m Ho$ EH$ {dñV¥V dm{UÁ` AZmO H¥${f Ho$ à_wI joÌ H$m Zm_ {b{IE & 

(29.2) ŷ_Ü` gmJa Am¡a bmb gmJa  H$m Zm_ {b{IE & 

(29.3) Am°ñQ́>o{b`m Ho$ npíM_r ^mJ _| pñWV à_wI g_wÐr nÎmZ H$m Zm_ {b{IE &    

(29.4) OmnmZ Ho$ à_wI dm ẁ nÎmZ H$m Zm_ {b{IE & 

(29.5) ~«mµOrb Ho$ à_wI g_wÐr nÎmZ H$m Zm_ {b{IE & 

(29.6) A\«$sH$m Ho$ EH$ à_wI {Zdm©hZ g§J«hU joÌ H$m Zm_ {b{IE & 

(29.7) CÎmar A_o[aH$m H$m à_wI Am§V[aH$ Ob_mJ© H$m¡Z-gm h¡ ?  
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SECTION E 

Questions number 29 and 30 are Map-based Questions.  2 5=10 

29. On the given political outline map of the World (on page 21), seven 

geographical features have been marked as A, B, C, D, E, F and G. 

Identify any five with the help of the following information and write 

their correct names on the lines drawn near them :   5 1=5 

A. An area of extensive commercial grain farming 

B. A shipping canal    

C. A major sea port in Australia  

D. A major airport in Japan 

E. A major sea port of South America  

F. An area of subsistence gathering  

G. A major inland waterway 

Note :  The following questions are for Visually Impaired Candidates only 

in lieu of Q. No. 29.  

 Answer any five questions out of the following : 5 1=5 

(29.1) Name a major area of extensive commercial grain farming in 
Africa. 

(29.2) Name the canal linking Mediterranean Sea and Red Sea.    

(29.3) Name the major sea port located in western part of Australia. 

(29.4) Name the major airport of Japan.   

(29.5) Name the major sea port of Brazil.  

(29.6) Name the main area of subsistence gathering in Africa. 

(29.7) Which is the major inland waterway in North America ?     
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30. {XE JE ^maV Ho$ amOZr{VH$ aoIm-_mZ{MÌ (n¥îR> 23 na), _| {ZåZ{b{IV gmV ^m¡Jmo{bH$ 

bjUm| _| go {H$Ýht  Ûmam A§{H$V H$s{OE Am¡a CZHo$ Zm_  

{b{IE : 5×1=5 

(30.1) VyVrH$mo[aZ : à_wI g_wÐr nÎmZ   

(30.2) ±~o H$s ImZ|    

(30.3) n§Om~ H$m EH$ A§Vam©îQ>́r` dm ẁ nÎmZ 

(30.4) Mmdb CËnmXH$ AJ«Ur amÁ` 

(30.5) gdm©{YH$ OZg§»`m KZËd dmbm amÁ`    

(30.6) CÎma àXoe H$s Vob emoYZembm 

(30.7) P[a`m : H$mo`bo H$s ImZ| 

: 30

:  5×1=5

(30.1) Cg amÁ` H$m Zm_ {b{IE Ohm± VyVrH$mo[aZ g_wÐr nÎmZ pñWV h¡ & 

(30.2) ±~o H$s ImZ| pñWV h¢  & 

(30.3) Cg ñWmZ H$m Zm_ {b{IE Ohm± n§Om~ H$m A§Vam©îQ>́r` dm ẁ nÎmZ pñWV h¡ & 

(30.4) Mmdb CËnmXZ$ Ho$ AJ«Ur amÁ` H$m Zm_ {b{IE &  

(30.5) gdm©{YH$ OZg§»`m KZËd dmbo amÁ` H$m Zm_ {b{IE &  

(30.6) Cg ñWmZ H$m Zm_ {b{IE Ohm± CÎma àXoe H$s Vob emoYZembm pñWV h¡ & 

(30.7) Cg amÁ` H$m Zm_ {b{IE Ohm± P[a`m H$mò bo H$s ImZ| pñWV h¢ &  
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30. On the given political outline map of India (on page 23), locate and label 

any five of the following seven geographical features with appropriate 

symbols :  5 1=5 

(30.1) Tuticorin : Major sea port   

(30.2) Khetri : Copper mines    

(30.3) An international airport in Punjab   

(30.4) Leading rice producing state  

(30.5) State with the highest density of population  

(30.6) Oil refinery in Uttar Pradesh   

(30.7) Jharia : Coal mines  

Note :  The following questions are for Visually Impaired Candidates only 

in lieu of Q. No. 30.  

 Answer any five questions out of the following : 5 1=5 

(30.1) Name the state where Tuticorin sea port is located.  

(30.2) Name the state where Khetri copper mines are located.  

(30.3) Name the place where an international airport is located in 
Punjab.  

(30.4) Name the leading rice producing state.  

(30.5) Name the state with highest density of population. 

(30.6) Name the place where oil refinery is located in Uttar Pradesh.  

(30.7) Name the state where Jharia coal mines are located.  
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àíZ g§. 29 Ho$ {bE For question no. 29 
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àíZ g§. 30 Ho$ {bE   For question no. 30 

 

^maV H$m aoIm-_mZ{MÌ (amOZr{VH$) 
Outline Map of India (Political) 

 


